3

Available online at http://scik.org J. Math. Comput. Sci. 2 (2012), No. 6, 1801-1807 ISSN: 1927-5307

IDENTITIES OF FIBONACCI – LIKE SEQUENCE

V. K. GUPTA¹, YASHWANT K. PANWAR^{2,*} AND NIRMALA GUPTA¹

¹Department of Mathematics, Govt. Madhav Science College, Ujjain, India

²Department of Mathematics, Mandsaur Institute of Technology, Mandsaur, India

Abstract: In this paper, we present identities of Fibonacci-Like sequence. The Fibonacci-Like Sequence is defined by recurrence relation $S_k = S_{k-1} + S_{k-2}$, $k \ge 2$ with $S_0 = 2$, $S_1 = 2$. This was introduced by Singh, Sikhwal and Bhatnagar in 2010. Also we describe and derive connection formulae and negation formula.

Keywords: Fibonacci sequence, Lucas sequence, Fibonacci-Like sequence.

2000 AMS Subject Classification: 11B39, 11B37, 11B99

1. Introduction

Many authors have generalized second order recurrence sequences by preserving the recurrence relation and alternating the first two terms of the sequence and some authors have generalized these sequences by preserving the first two terms of the sequence but altering the recurrence relation slightly.

Kalman and Mena [6] generalize the Fibonacci sequence by

$$F_n = aF_{n-1} + bF_{n-2}, n \ge 2$$
 with $F_0 = 0, F_1 = 1$ (1.1)

Horadam [2] defined generalized Fibonacci sequence $\{H_n\}$ by

^{*}Corresponding author

Received May 16, 2012

$$H_{n} = H_{n-1} + H_{n-2}, \ n \ge 3 \ with \ H_{1} = p \ , \ H_{2} = p + q \ , \tag{1.2}$$

where p and q are arbitrary integers

L. R. Natividad [8], Deriving a Formula in solving Fibonacci-Like sequence. He found missing terms in Fibonacci-Like sequence and solved by standard formula.

V. K. Gupta, Y. K. Panwar and O. Sikhwal [11], defined generalized Fibonacci sequences and derived its identities connection formulae and other results.

B. Singh, O. Sikhwal, and S. Bhatnagar [5], defined Fibonacci-Like sequence by recurrence relation $S_k = S_{k-1} + S_{k-2}$, $k \ge 2$ with $S_0 = 2$, $S_1 = 2$

The associated initial conditions S_0 and S_1 are the sum of the Fibonacci and Lucas sequences respectively, i.e. $S_0 = F_0 + L_0$ and $S_1 = F_1 + L_1$.

In this paper, we introduce identities of the Fibonacci-Like sequence and we describe and derive the connection formulae and negation formula.

2. Preliminaries

Before presenting our main theorems, we will need to introduce some known results and notations.

The sequence of Fibonacci numbers F_n , [10], is defined by

$$F_n = F_{n-1} + F_{n-2}, n \ge 2 \text{ with } F_0 = 0, F_1 = 1$$
 (2.1)

The sequence of Lucas numbers L_n , [10], is defined by

$$L_n = L_{n-1} + L_{n-2}, n \ge 2 \text{ with } L_0 = 2, L_1 = 1$$
 (2.2)

The sequence of Fibonacci-Like numbers S_k , [5], is defined by

$$S_k = S_{k-1} + S_{k-2}, \ k \ge 2 \ \text{with } S_0 = 2, \ S_1 = 2$$
 (2.3)

The Binet's formula for Fibonacci-Like sequence is given by

$$S_{k} = 2 \left(\frac{\Re_{1}^{k+1} - \Re_{2}^{k+1}}{\Re_{1} - \Re_{2}} \right)$$
(2.4)

Where $\Re_1 \& \Re_2$ are the roots of the characteristic equation $x^2 = x + 1$ and

$$\Re_1 = \frac{1+\sqrt{5}}{2} \text{ and } \Re_2 = \frac{1-\sqrt{5}}{2}$$
.

3. Main results

Fibonacci-Like sequence is similar to the other second order classical sequences. In this section we present identities of the Fibonacci-Like sequence (2.3) and we describe and derive the connection formulae and negation formula. We shall use the Induction method and Binet's formula for derivation.

The few terms of the Fibonacci-Like sequence are 2, 2, 4, 6, 10, 16 and 26 and so on.

Theorem 3.1. If S_k is Fibonacci-Like sequence then

(*i*)
$$2(S_0 + S_3 + S_6 + S_9 + ... + S_{3k}) = 2\sum_{k=0}^n S_{3k} = S_{3k+2}$$
 (3.1)

$$(ii) \qquad 2(S_3 + S_6 + S_9 + \dots + S_{3k}) = 2\sum_{k=1}^n S_{3k} = S_{3k+2} + 4$$
(3.2)

(*iii*)
$$2(S_1 + S_4 + S_7 + S_{10} + \dots + S_{3k-2}) = 2\sum_{k=1}^n S_{3k-2} = S_{3k} - 2$$
 (3.3)

$$(iv) \qquad 2(S_2 + S_5 + S_8 + S_{11} + \dots + S_{3k-1}) = 2\sum_{k=1}^n S_{3k-1} = S_{3k+1} - 2 \tag{3.4}$$

$$(v) \qquad 2\left[S_0 + 2\left(S_3 + S_6 + S_9 + \dots + S_{3k}\right)\right] = 2\left\{S_0 + 2\sum_{k=1}^n S_{3k}\right\} = S_{3k+2} + 2 \tag{3.5}$$

$$(vi) \qquad 2(S_1 - S_2 + S_4 - S_5 + S_7 - S_8 + \dots + S_{3k-2} - S_{3k-1}) = 2\sum_{k=1}^n (S_{3k-2} - S_{3k-1}) = S_{3k} - S_{3k+1}$$
(3.6)

The identities from (3.1) to (3.4) can be derived by induction method.

If we adding (3.1) term wise from (3.2), we get the identity (3.5) and if we subtract (3.3) term wise from (3.4), we get the identity (3.6).

Theorem 3.2. *Prove that*
$$3F_{k+3} - L_{k+3} = S_k$$
 (3.7)

Proof. We shall use mathematical induction method over k. For k=0,

$$3F_{0+3} - L_{0+3} = 3 \times 2 - 4 = 2 = S_0$$

For k = 1, $3F_{1+3} - L_{1+3} = 3 \times 3 - 7 = 2 = S_1$, which is also true for k = 1.

Assume that the result is true for k = n, then $3F_{n+3} - L_{n+3} = S_n$, Now

 $\begin{aligned} 3F_{(n+1)+3} - L_{(n+1)+3} &= 3F_{e+3} - L_{e+3} ; \text{ where } e = (n+1) \\ &= 3(F_{e+2} + F_{e+1}) - (L_{e+2} + L_{e+1}) \\ &= (3F_{e+2} - L_{e+2}) + (3F_{e+1} - L_{e+1}) \\ &= S_{e-1} + S_{e-2} \end{aligned}$ (By induction hypothesis) $&= S_e = S_{n+1} \end{aligned}$

Therefore, $3F_{(n+1)+3} - L_{(n+1)+3} = S_{n+1}$, which is also true for k = n+1. Hence, the result is true for all k.

Theorem 3.3. If S_k is Fibonacci-Like sequence then

$$S_{2k-4}S_{2k+1} - S_{2k-2}S_{2k-1} = F_6 = 8, \quad k > 1$$
(3.8)

Theorem 3.4. If S_k is Fibonacci-Like sequence then

$$S_{2k-3}S_{2k+2} - S_{2k-1}S_{2k} = -F_6 = -8, \quad k > 1$$
(3.9)

Theorem 3.5. If S_k is Fibonacci-Like sequence then

$$S_{2k}S_{2k+3} - S_{2k+1}S_{2k+2} = L_3 = 4, \quad k \ge 0$$
(3.10)

Theorem 3.6. If S_k is Fibonacci-Like sequence then

$$2S_{2k-1}S_{2k} - S_{2k-2}S_{2k+3} - S_{2k-2}S_{2k+1} = L_3 = 4, \quad k \ge 1$$
(3.11)

Theorem 3.7. If S_k is Fibonacci-Like sequence then

$$S_{2k-1}^2 - S_{2k-3}S_{2k+1} = L_3 = 4, \quad k > 1$$
(3.12)

Theorem 3.8. If S_k is Fibonacci-Like sequence then

$$S_{2k}^2 - S_{2k-2}S_{2k+2} = -L_3 = -4, \quad k \ge 1$$
(3.13)

Theorem 3.9. If S_k is Fibonacci-Like sequence then

$$\left(S_{2k}S_{2k+4} - S_{2k+2}^2 + S_{2k+4}S_{2k} - S_{2k+1}S_{2k+3}\right) + 3\left(S_{2k}S_{2k+4} - S_{2k+2}^2\right) = L_3 = 4, \quad k \ge 0 \quad (3.14)$$

Theorem 3.10. If S_k is Fibonacci-Like sequence then

$$S_{2k+2}S_{2k+3} - S_{2k}S_{2k+3} + 4\left(S_{2k}S_{2k+4} - S_{2k+2}^{2}\right) + 3\left(S_{2k-1}S_{2k+4} - S_{2k+2}S_{2k+1}\right) = L_{5} + 1 = 12, \quad k \ge 1$$
(3.15)

Theorem 3.11. If S_k is Fibonacci-Like sequence then

$$S_{2k-4}S_{2k+2} + S_{2k-3}S_{2k+1} - S_{2k-2}S_{2k} - S_{2k-1}^2 = F_6 = 8, \quad k > 1$$
(3.16)

Theorem 3.12. If S_k is Fibonacci-Like sequence then

$$3S_{2k-3} - S_{2k-4} = 13F_{2k} - 5F_{2k} \tag{3.17}$$

Theorem 3.13. If S_k is Fibonacci-Like sequence then

$$S_k^3 + S_{k-1}^3 + 3S_{k-1}S_k^2 = 8F_{3k+2}, \quad k \ge 1$$
(3.18)

Proof of the theorems (3.3, ..., 3.13), It can be proved same as Theorem: 3.14

Theorem 3.14. If S_k is Fibonacci-Like sequence then

$$S_k^3 - S_{k-1}^3 + 3S_k S_{k-1}^2 = 8F_{3k+1} , \quad k \ge 1$$
(3.19)

Proof. By Binet's formula (2.4), we have

$$\begin{split} S_{k}^{3} - S_{k-1}^{3} + 3S_{k} S_{k-1}^{2} \\ &= \frac{8}{(\Re_{1} - \Re_{2})^{3}} \Big\{ \Big(\Re_{1}^{k+1} - \Re_{2}^{k+1} \Big)^{3} - \Big(\Re_{1}^{k} - \Re_{2}^{k} \Big)^{3} \Big\} + \frac{24}{(\Re_{1} - \Re_{2})^{3}} \Big\{ \Big(\Re_{1}^{k+1} - \Re_{2}^{k+1} \Big) \Big(\Re_{1}^{k} - \Re_{2}^{k} \Big)^{2} \Big\} \\ &= \frac{8}{(\Re_{1} - \Re_{2})^{2}} \Big\{ 2 \Big(\frac{\Re_{1}^{3k+1} - \Re_{2}^{3k+1}}{\Re_{1} - \Re_{2}} \Big) + 3 \Big(-1 \Big)^{k} \Big(\frac{\Re_{1}^{k+1} - \Re_{2}^{k+1}}{\Re_{1} - \Re_{2}} \Big) + 3 \Big(-1 \Big)^{k} \Big(\frac{\Re_{1}^{k-1} - \Re_{2}^{k}}{\Re_{1} - \Re_{2}} \Big) \Big\} \\ &\quad + \frac{24}{(\Re_{1} - \Re_{2})^{2}} \Big\{ \Big(\frac{\Re_{1}^{3k+1} - \Re_{2}^{3k+1}}{\Re_{1} - \Re_{2}} \Big) - 2 \Big(-1 \Big)^{k} \Big(\frac{\Re_{1}^{k+1} - \Re_{2}^{k+1}}{\Re_{1} - \Re_{2}} \Big) + \Big(-1 \Big)^{k} \Big(\frac{\Re_{1}^{k-1} - \Re_{2}^{k-1}}{\Re_{1} - \Re_{2}} \Big) \Big\} \\ &= \frac{16}{5} F_{3k+1} + \frac{24}{5} \Big(-1 \Big)^{k} F_{k+2} + \frac{24}{5} F_{3k+1} - \frac{48}{5} \Big(-1 \Big)^{k} F_{k+1} + \frac{24}{5} \Big(-1 \Big)^{k} F_{k-1} \\ &= 8F_{3k+1} + \frac{24}{5} \Big(-1 \Big)^{k} \Big[F_{k+2} - 2F_{k} - F_{k-1} \Big] \\ &= 8F_{3k+1} + \frac{24}{5} \Big(-1 \Big)^{k} \Big[F_{k+1} - F_{k+1} \Big] \\ &= 8F_{3k+1} \Big\} \end{split}$$

This completes the proof.

Theorem 3.15. *Prove that* $S_{-k} = (-1)^{k+2} S_k$ (3.20)

Proof. By Binet's formula (2.4), we have

$$\begin{split} S_{-k} &= \frac{2}{\sqrt{5}} \left\{ \left(\frac{1+\sqrt{5}}{2} \right)^{-k-1} - \left(\frac{1-\sqrt{5}}{2} \right)^{-k-1} \right\} \\ &= \frac{2}{\sqrt{5}} \left\{ \left(\frac{2}{1+\sqrt{5}} \right)^{k+1} - \left(\frac{2}{1-\sqrt{5}} \right)^{k+1} \right\} \\ &= \frac{2}{\sqrt{5}} \left[\left\{ -\left(\frac{1-\sqrt{5}}{2} \right) \right\}^{k+1} - \left\{ -\left(\frac{1+\sqrt{5}}{2} \right) \right\}^{k+1} \right] \\ &= \frac{2}{\sqrt{5}} \left(-1 \right)^{k+2} \left\{ \left(\frac{1+\sqrt{5}}{2} \right)^{k+1} - \left(\frac{1-\sqrt{5}}{2} \right)^{k+1} \right\} \\ S_{-k} &= (-1)^{k+2} S_k \end{split}$$

This completes the proof.

4. Conclusion

In this paper, we have stated and derived identities for Fibonacci-Like sequence. Also described and derived connection formulae and negation formula for Fibonacci-Like sequence.

Acknowledgements. We are thankful to referees for their valuable comments. Also second author is thankful to Prof. Omprakash Sikhwal, Mandsaur Institute of Technology, Mandsaur (India) for their valuable comments in improvement of the paper.

REFERENCES

- A. F. Horadam, Basic Properties of Certain Generalized Sequence of Numbers, The Fibonacci Quarterly, 3, No.3 (1965), 161-176.
- [2] A. F. Horadam, The Generalized Fibonacci Sequences, The American Math. Monthly, 68, No. 5 (1961), 455-459.
- [3] A. J. Macfarlane, Use of Determinants to present identities involving Fibonacci and Related Numbers, The Fibonacci Quarterly, 48, No. 1 (2010), 68-76.
- [4] A. T. Benjamin and J. J. Quinn, Recounting Fibonacci and Lucas identities, College Math. J., 30, No. 5 (1999), 359-366.
- [5] B. Singh, O. Sikhwal, and S. Bhatnagar, Fibonacci-Like Sequence and its Properties, Int. J. Contemp. Math. Sciences, 5, No. 18 (2010), 859-868.
- [6] D. Kalman and R. Mena, The Fibonacci Numbers Exposed, The Mathematical Magazine, 2 (2002).
- [7] L. A. G. Dresel, Transformations of Fibonacci-Lucas identities, Applications of Fibonacci Numbers, 5 (1993), 169-184.
- [8] L. R. Natividad, Deriving a Formula in Solving Fibonacci-like sequence, International Journal of Mathematics and Scientific Computing, 1, NO. 1 (2011), 19-21.
- [9] N. N. Vorobyov, The Fibonacci numbers, D. C. Health and company, Boston, 1963.
- [10] T. Koshy, Fibonacci and Lucas numbers with Applications, Wiley, 2001.
- [11] V. K. Gupta, Y. K. Panwar and O. Sikhwal, Generalized Fibonacci Sequences, Theoretical Mathematics & Applications, 2, No.2 (2012), 115-124.